Homework # 9 (Due ﬁ}i@(@y, ﬁeéruag 28).
- Read Chapter & in +he +extbook.
Do the follounng  problems:
l Find  +he value of K such that the
roots of X3 -3X*+KX+3=0 are /n
arithmehc progression (i.e. are «, K+d , a+2d
for some d). Solve the eguathon for +his valve
of K.

2. Use mathemahcal rnduchon b prove
the folloutny |
a) o rt = —é'—-n(n+i)(2n+i) Jor il a7,
r=|

b) a+a;7)—+¢%1+..+q,z,“‘i.-. ‘L&::.LJ
.--i
proall a, ¢41 and n o, 4

C) For ol inteser R 7 4 , n*-n s
divisible bj 6.

n
d} Z _“L’ - 7\}_ B 2h|+3 ,For
r=1

2 (n+4)(n+r)

ns 1.

o) 2" > n?d fr all nzi0.

{) vae, that 4 -3n-1 15 divisible };y 9
for n=2,3,4,...



